1 KRBR

1-1 BEIEERICLDIAKSRAERER

(1)TFER (TRREE)

. = 15 g S5 S 6 .
olj = = B,
48 | sB e8| 7888 |98 108|118 128| 18| 28 | 38
BMAEEER E) 30 20 30 31 31 30 15 22 31 31 29 31| 340
TEMLERE  [RIERR BRI | 713 710 713 736 738 713 395 533 736| 738 689 736| 8150
so, |BATE ppm |0.001 0.001 0.001 0.001 0.000 0.001 0.001 0.000 0.000 0.001 0.001 0.001|0.001
1 B5REN0. 1ppm
= PP B o o o o o o o o o o o o o
ZBX I=B5EEL
BHIESEH'0.04ppm
FIIMEL0.04pp =) o o o o o o o o o o o o o
BRI BH
1 BRBORBIE ppm |0.005 0.006 0.004 0.016 0.005 0.004 0.009 0.004 0.004|0.008 0.018 0.009|0.018
BESEOESE ppm |0.001 0.001 0.002 0.003 0.001 0.001 0.002 0.001 0.001|0.003 0.003 0.003|0.003
. = 15 g S5 S 6 .
BLi = = B,
48 | sB e8| 78|88 |98 108|118 128| 18| 28 | 38
BMAEEE E) 30 30 30 31 31 30 31 30 31 31 28 31 364
BITERSRS BRI | 718 738 715 741 741 717 741 704 739| 740 693 733| 8720
s |PTOR ppm |0.004 0.003 0.004 0.003 0.003 0.004 0.005 0.006 0.009|0.009 0.006 0.004|0.005
NOE“ 1 BRBORBIE ppm |0.019 0.014 0.033 0.017 0.012 0.017 0.020 0.035 0.074|0.066 0.036 0.035|0.074
BFSEOESE ppm |0.007 0.006 0.006 0.005 0.006 0.006 0.008 0.011 0.018|0.022 0.016 0.009|0.022
BFEE ppm |0.007 0.006 0.006 0.005 0.003 0.006 0.008 0.010 0.012|0.012 0.011 0.010]0.008
“EIEE |1 BEECRSE ppm |0.033 0.018 0.024 0.019 0.012 0.016 0.020 0.031 0.033|0.031 0.033 0.0330.033
NO, |BTHECRSE ppm |0.013 0.010 0.012 0.009 0.008 0.009 0.011 0.017 0.022|0.024 0.025 0.023|0.025
1 B5RSMEN0.2ppm
3 PP B o o o o o o o o o o o o o
ZBX I=B5EEL
1 BERMEN0. 1ppmId £
® ppm-> B o o o o o o o o o o o o o
0.2ppmBEA T DKFfER
BF194EN'0.06ppm
SIETEE5PP =) o o o o o o o o o o o o o
R =L
BH¥E9EN0.04ppmIL £
ppr =) o o o o o o o o o o o o o
0.06ppmI FDHEL
BFEE ppm [0.011 0.009 0.010 0.009 0.006 0.009 0.012 0.016 0.021]0.021 0.017 0.014|0.013
=xmty |1 BEECRSE ppm |0.045 0.032 0.050 0.028 0.023 0.033 0.040 0.056 0.098|0.093 0.067 0.068|0.098
NO+NO, |BTHECESE ppm |0.018 0.015 0.018 0.014 0.012 0.014 0.018 0.027 0.040|0.038 0.042 0.032|0.042
NO,/ (NO+NO,) % | 65.7 63.3 624 60.3 552 586 614 627 588 57.0 66.1 71.0| 61.9
e = m & S5 & 6% o
BLi = = B,
48 | sB|eB | 78|88 |98 108|118 128| 18| 28 | 38
BMAEEER E) 30 20 30 31 31 30 31 30 31 31 29 30 363
SR ARYIE AR BRI | 718 713 717 742 742 718 742 717 740| 741 691 734| 8715
M |BATEE mg/m?| 0.016 0.014 0.013 0.015 0.013] 0.012 0.008 0.010 0.007|0.006  0.008 0.011|0.011
1 BRBORBIE mg/m?| 0.083  0.059 0.054 0.061 0.065 0.047 0.035 0.053 0.051|0.110 0.115 0.095|0.115
BFSEOESE mg/m?| 0.0330.030 0.030 0.026 0.026 0.021 0.013 0.028 0.017|0.015 0.025 0.025|0.033
1 BSRIMB/X0.20mg/m® | B5R o o o o o o o o o o o o o
EBR IR A 5] o o o o o o o o o o o o o
SEEHNO. 3
BFIMEA0.10mg/m = o o o o o o o o o o o o o
R =L
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S5 &E o6 E
W B ® H R
48 | 5B 68 7B 88 | 98 108 118|128 | 1A 2B 3R )
BRIBIERE B 30/ 31 30/ 31 31 30/ 31 30 31| 31 29 31| 366
sk | BRIRIERR KR | 448 446 447 463 463 448 462 443 462 463 433 463| 5441
AFSH ~ |BRID 1 ERHEN0.06ppm| H 10 11| 14 17 8 12 2 4 0 0 0 4/ 82
Ox i A =F e AT ST 36/ 54 66 76 29 36 7 11 0 0 0 18| 333
BRo 1 BREN0.12ppm| H 0 0 0 1 0 0 0 0 0 0 0 0 1
B EDE R & BRI S| 0 0 0 1 0 0 0 0 0 0 0 0 1
B 1 KREEDCSSME | ppm |0.072 0.109 0.094 0.121 0.100 0.083 0.070 0.069 0.048|0.045 0.047 0.069|0.121
BREIOHSE 1 BEME
JR——. ppm | 0.056| 0.060| 0.058 0.065 0.045 0.052|0.046| 0.042 0.034|0.034 0.038|0.046|0.048
EFIME
BRIDARITSE ppm |0.043| 0.044  0.041 0.040 0.026 0.031 0.031 0.026 0.021|0.023 0.027 0.034|0.032
QQ)BHE (FH9)
® & = g S5 & S 6 .
. 48 | sB | eA | 78 | 88 | 98 | 108 | 118 | 128 | 1B | 28 | 38
ARBIEREK B 30/ 29/ 30/ 31 31 30/ 31 30 31| 31 29 31| 364
TEsEERE [RIERRI B | 712) 709 712 737 737 714 737 712 735| 737 688 738| 8668
SO, AEHE ppm | 0.000| 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000|0.000 0.000 0.000|0.000
1 BEREHY0. 1ppm
- _,pp i 0 0 0 0 0 0 0 0 0 0 0 0 0
EHBX IR
BF9EN'0.04ppm
o PP = 0 0 0 0 0 0 0 0 0 0 0 0 0
b 2h e =F
1 BRMEORSE ppm | 0.003| 0.002| 0.002  0.004 0.003 0.002 0.001 0.002 0.001|0.001 0.002 0.003|0.004
BESEDREIE ppm |0.001| 0.000| 0.000 0.000 0.001 0.000 0.000 0.000 0.000|0.000 0.000 0.000|0.001
2 B =& g S5 & S 6 .
. 48 | sB | eBA | 78 | 88 | 98 | 108 | 118 | 128 | 1B | 28 | 38
AREIEREK B 30 30/ 30/ 31 31 30/ 31 30 31 31 29 31| 365
B E SRS B 717\ 737 717 741 741 717 741 716/ 740 742 692 742| 8743
. BEHE ppm | 0.002| 0.002| 0.002| 0.002| 0.003| 0.003/ 0.004/ 0.003/ 0.007| 0.004 0.004 0.002|0.003
NOE“ 1 BRMEORSE ppm |0.016/ 0.011/ 0.012 0.011 0.018 0.014 0.225 0.030 0.297|0.060 0.066 0.026|0.297
BESEDRSIE ppm | 0.004| 0.004| 0.004 0.004 0.006 0.006 0.014 0.007 0.020|0.018 0.018 0.006|0.020
BEHE ppm | 0.003] 0.002| 0.003| 0.002| 0.002| 0.002| 0.002| 0.003/ 0.005| 0.004 0.004 0.002|0.003
“EMtER | 1BREoRSE ppm |0.020 0.011/ 0.014 0.013 0.008 0.008 0.015 0.017 0.020|0.026 0.025 0.019|0.026
NO, BESEDRSIE ppm | 0.008| 0.006  0.005 0.004 0.003 0.004 0.006 0.007 0.013|0.015 0.016 0.007|0.016
1 BSRSMENR0. 2ppm
3 PP i 0 0 0 0 0 0 0 0 0 0 0 0 0
EHB R
1 BSREMENY0. 1ppmid L
: PP ” B 0 0 0 0 0 0 0 0 0 0 0 0 0
0.2ppmBEA T DKFfER
BF194EN'0.06ppm
o PP = 0 0 0 0 0 0 0 0 0 0 0 0 0
EBX A
BF194EH0.04ppm £
pp” = 0 0 0 0 0 0 0 0 0 0 0 0 0
0.06ppmI FDHEL
AEHE ppm | 0.005| 0.004| 0.005| 0.004| 0.004/ 0.005/ 0.007| 0.007| 0.012|0.008  0.008  0.004|0.006
=My | 1EBREoRSE ppm |0.027| 0.018/ 0.020 0.024 0.023 0.020 0.227 0.047 0.303|0.083 0.091 0.043|0.303
NO+NO, |BFSEDSEIE ppm |0.011/ 0.011/ 0.009 0.008 0.008 0.008 0.016 0.013 0.033|0.033 0.033 0.013|0.033
NO,/ (NO+NO,) % | 62.5 52.7 55.0 49.8 35.1 38.4 36.9 49.1 39.6| 50.8 50.4 55.1| 47.2
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D5 F T 6F

BEl =" I8 B F/H
48 |58 |eB | 78 88 |98 |108 |11 128 | 18 | 28 | 38
BYHED =l 30] 29 30 31 31| 30 31 30 31| 31 29 31| 364
ST AR RIS BRI | 718) 713 717 741 742| 718 742 717 740| 742 694 742| 8726
SPM AFiaE mg/m?| 0.014] 0.012/ 0.012 0.014 0.011] 0.011 0.007| 0.008| 0.007|0.005 0.005 0.008|0.009
1 BREORSIE mg/m?| 0.067| 0.063/ 0.096 0.054 0.069 0.049) 0.060| 0.046| 0.058| 0.030 0.049 0.049|0.096
B EDSEE mg/m?| 0.026] 0.028/ 0.024 0.029 0.023] 0.017 0.013| 0.024| 0.016| 0.015 0.018 0.020|0.029
1 BSRHEN0.20mg/m® | BRI 0 0 0 0 0 0 0 0 0 0 0 0 0
HIBR IR S B2 =l 0 0 0 0 0 0 0 0 0 0 0 0 0
7 4 NoJ 3
BFI3ME7'0.10mg/m = o o o o o o o o o o o o o
=HBX I=HEK
] S5 & SM6E
A ®m B B v v £ER9
48 |58 leB | 78 88 |98 |08 |11 128 | 18 | 28 | 38
BRIEDZ B 30/ 31 30 31 31| 30 31 30 31| 31 29 31| 366
wib® | BRIAERRS BR | 448) 444 447 463 463] 448 463 442 461| 463 433 463| 5438
AFSH> N | BRI 1 BEVES0.06ppm| B 5 9 6 10 4 3 1 1 0 0 0 4l 43
ox EBZAMCEEE Bm | 21 35 27 30 8 6 3 1 0 0 o 14| 145
BRI 1 BRHEA0.12ppm | H 0 0 0 0 0 0 0 0 0 0 0 0 0
RSt O i B R 0 0 0 0 0 0 0 0 0 0 0 0 0
BRI 1 BEHEORSME | ppm | 0.069 0.093| 0.085 0.108 0.086| 0.066| 0.063 0.063 0.044|0.043 0.047 0.066|0.108
BREIOBHRS 1 BKREE
ppm | 0.052 0.053  0.049 0.054 0.037 0.041|0.041 0.039 0.033|0.034 0.037 0.046|0.043
DB BIFE
BROSMTIE ppm | 0.041 0.041 0.033|0.031 0.020 0.024|0.028 0.025 0.022|0.025 0.027 0.037|0.029
] S5 & SM6E
A ®m B B v r i
48 |58 |eB | 78 88 |98 |08 |11 128 | 18 | 28 | 38
BYNEL =l 30/ 30 30 31 31| 30 31 30 31| 31 29 31| 365
—mbiR  RIERRS BRI | 710 723 709 738 737 714 737 714 736| 736 686 734| 8674
co ATiE ppm | 0.21 0.21 0.24| 0.21 0.17 0.21] 0.23 0.24 0.24| 0.25 023 0.22| 0.22
8 B¥[IfEN 20ppm
- &) 0 0 0 0 0 0 0 0 0 0 0 0 0
=B J=[mEK
B¥19{EN 10ppm
- =| 0 0 0 0 0 0 0 0 0 0 0 0 0
=HBX I=HEK
| BREHEORSIE ppm | 0.58 0.90 0.82| 2.73 0.79 0.50| 0.50 1.10 0.53| 0.50 0.60 0.48| 2.73
BESEORSE ppm | 0.30 0.31 0.40| 0.37 0.26 0.27| 0.30 0.40 0.39| 0.35 0.36 0.29| 0.40
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1-2 KSPOEFUBHIESYRERR

(mg/m°)

AEfS .. rUsOO SkSo000 Soon

N | S FAE NEEE I3 IFLY AF>

RS 4 25/  0.0032  <0.0003  <0.0003 0.0007

o | R5 9 25|  0.0006 <0.0003  <0.0003 0.0004

1 FRRBE | oo 5 18] 00003 <0.0003  <0.0003 0.0004

R6 2 26| <0.0003  <0.0003  <0.0003  <0.0003

RS 4 27| 0.0016  <0.0003  <0.0003 0.0010

. s | RS 9 21| 00003 <0.0003  <0.0003 0.0010

RS 12 14|  0.0005  <0.0003  <0.0003 0.0013

R6 3 7| <0.0003  <0.0003  <0.0003 0.0006

RS 4 25/  0.0023  <0.0003 _ <0.0003 _ <0.0003

.. | RS 9 25| 0.0005 <0.0003  <0.0003 0.0007

3 ANER - oe 15 21] 0.0004  <0.0003  <0.0003 0.0004

R6 2 26| <0.0003  <0.0003  <0.0003  <0.0003

RS 4 27| 0.0015  <0.0003  <0.0003 0.0009

W mpesg | RS9 21] 00005 <0.0003  <0.0003 0.0011

RS 12 14|  0.0008 0.0003  <0.0003 0.0022

R6 2 28/  0.0003  <0.0003  <0.0003 0.0006

1-3 S5 FEERMEMRATER

B |pH ((FEAfE) | BEK=Z (mm)
48 5.14 149.7
5A 5.00 164.4
65 5.09 346.6
78 5.04 65.7
88 4.34 219.8
9A 4.77 164.1
10A 4.90 95.2
114 5.17 77.7
12A 4.80 68.5
18 4.92 60.9
28 4.99 123.3
35 5.28 204.6
7= 4.85 17405

GE)

1. pH(E. ARIXIEROEREMNETIET S,
2. BKEEEHPMMEZHEEEE CEIDBEH UED. ARX(EERDOEEET D,
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